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Three Iiours

Instructions:
. Question No. 1 is comPulsorY
o A11 questions carry equal marks

. Assurne suitable data r,vherever necessary

. Explain u,ith figures and diagtams rvherever necessary

o Figures to the right indicate full marks.

. Ansrvers to the questions should be grouped and r,vritten

Q.1

Q,2 a.

together.

'*'r" $,*:: S?:.TH*ites or ppc

b) State the assumptions in job sequencing

c) State the objectives and inputs to the MRP system 
:

d) Fixed quantity system (Q-system)
e) Measures of caPacirY

The Handy-Dandy O"p*.J Store had forecast sales of Rs.I10000 for the last week- The

i) What is the forecast for this week, using exponeqgal smoothingl

Assunre u:0.1
ii) If sales this week turn out to be Rs.120000, what is the forecast for the next week'l

A firm produces wheel barrows is expected to deliver 40 wheel barrows i1w99k I ,60 in

week 4, 60 in week 6 and'50 in week 8 .Among the requirements for each wheel barow are

trvo handle bars, a wheel assembly and one tire for the wheel assembly. Order quantities, lead

times and inventories on hand at the beginning of period 1 are shown in table

Part Order Quanti{y Lead Tirne Inventory on Hand

Handle bars 300 2 weeks 100

Wheel Assembly 204 3 weeks 224

Tires 400 I week 50

offi ptoa*ci@P for handle bars, wheel assembly and tires.

Q.3 a. The follor,v-in bl tail roiect involvinq I I activities
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b.

aDte snows e etalls oI a ec \,D.

Activity Predecessor Duration (rveeks )

t* 1,,, tp

A 6 7 8

B I 1
^L

o

L- I 4 7

D A I 2
.1
J

E A,B I
,")
-/- 9

F C 1 5 9

G C ) ? 8

H E.F 4 4 4

I E.F 4 1 1t)

J D.H 2 5 t4

K I,G 1
L 2 I
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b.

Q'4 a.

b.

Q.5 a.

Q.6 a.

Paper / subject code: 42ss3 / production pranning and control 
,
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li ??trff '*'#i:lTlffi ffi l1 o uo,,,o..
ii'] I*d the criticar path and expected project cornpretion rime
iy] w.h"l is the probability of compteting the proiect on or before 25 weeks?
W-hy is it important to monitor und.onttl forecists?
what is aggregate planning? Explain different strategies of aggregate planni,g?
A company currently purchases one of its iterns for Rs.2 per unit without quantity discount.'fhe ordering cost is Rs.20 per order and the cara,irg .o;t-i , iOgrrof its purchase price per
[1,:::'"r:::T]::4,',.1:'",14 is 2500 *its a;ff;;;;ofrers quantity discounts for,h. r tity discount scheme..i"iirr.ffi;ffi:]iff',]

5 't'i af er ulllt rice

Define project scheduring. Exprain importance
Differenriare between cpM and pERi L of scheduling in

10

10

10

l0

10

10

There are seven ^jobs, each
(order of machinin._{ is AB).
the iobs are to be processed

0.65 m '0.40 m 0.30 m

i)rCalculate the cycle time
ii) Group the tasks into an

of rvhich has to be processed o, machine A
Processing time is in hours. Find the optimal
so as to rninimize the total time elapsed.

prqiect planning.

and on machine B
seqlrence in which

The element times
operates for seven

b. use the sales data given belorv to detennine:
i) the least squares"trenJ iil u,ri 

\4vlvr,'rr

ii) the predicted value for zarg sales.

The pr:ecedenee diagram for assemb'ly activities e * c i, ,r.*o berow.
lelyired',lr..the actwities are shown L ,rr" diagram iir minutes. The linehours per day and an output of 550 units per dalr is desired.

0.2() m

0.45 m
and the theoretical minimLrm number of workers.
appropriate number of work stations by Kilbridge and WestersMethod.

iii) AIso calculare the balanced efficiency.

b . Explain the ev'olution ofEM. what is the purpose ofmodelirrg an enterprise?.. ,. **:t***
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